



---

[2, 3].

( )  $V \rightarrow A$  ,  $V-A$  (  $V-A$  ) –  $d: V \rightarrow A$ .  $V-A$  (  $V-A$  ) –  $V-A$   $\|_{-} \nabla : d \|_{-} = [v \mapsto a \in d \mid v \neq ]$ ;

$d \nabla h = h \cup [v \mapsto a \in d \mid v \notin asn(h)]$ .  $asn(d) = \{v \in V \mid v \mapsto a \in d \quad a \in A\}$ .

$r_{x_1, \dots, x_n}^{v_1, \dots, v_n} : r_{x_1, \dots, x_n}^{v_1, \dots, v_n}(d) = d \nabla [v_1 \mapsto d(x_1), \dots, v_n \mapsto d(x_n)]$ .

$y_1, \dots, y_n \quad \bar{y} \cdot \quad r_{x_1, \dots, x_n}^{v_1, \dots, v_n} \quad r_{\bar{x}}^{\bar{v}}$

$r_{\bar{x}}^{\bar{v}} \quad r_{\bar{y}}^{\bar{u}} \quad [2, 6] \quad r_{\bar{x}}^{\bar{v}} \bullet r_{\bar{y}}^{\bar{u}}$

$r_{\bar{x}}^{\bar{v}} \quad r_{\bar{y}}^{\bar{u}} \quad r_{\bar{x}}^{\bar{v}}(r_{\bar{y}}^{\bar{u}}(d)) = r_{\bar{x}}^{\bar{v}} \bullet r_{\bar{y}}^{\bar{u}}(d)$ .

$r : r(d) = d$ .

$V-A$  ( )  $P : V \rightarrow \{T, F\}$ ,  $\{T, F\}$  –

$T(P) = P^{-1}(T) = \{d \in V \mid T \in P(d)\} \quad F(P) = P^{-1}(F) = \{d \in V \mid F \in P(d)\}$ .

$\Leftrightarrow T(P) \cap F(P) = \emptyset$ .

$\Leftrightarrow T(P) \cup F(P) = V$ .

( )  $V \rightarrow \{T, F\}$ . ( [3] )

$R$  ( ) ,  $P : V \rightarrow \{T, F\}$  :

– ( ) ,  $F(P) = \emptyset$ ;

– ,  $T(P) \neq \emptyset$ ;

– ,  $T(P) = V \quad F(P) = \emptyset$ ;

– ,  $T(P) = V$  ;

– ,  $T(P) = F(P) = \emptyset$ .

$\in V$  ( )  $V-A$   $\circ$   $P$ ,

$d_1, d_2 \in V \quad : d_1 \|_{-} = d_2 \|_{-} \Rightarrow P(d_1) = P(d_2)$ .

–  $T$  –

–  $TS$  –

$V-A$   $R$ – ,  $P$ – ,  $T$ – ,  $TS$ –

$PrR^A, PrP^A, PrT^A, PrTS^A$  (  $V$  ).

(  $V, Pr, C$  )  $Pr$  – ,

$V-A$  ,  $C$  –

$\hat{O}$   $\hat{O}$   $\hat{O}, \hat{O}$   $R_{\bar{x}}^{\bar{v}}$ .  
 $T(\neg P) = F(P);$   $F(\neg P) = T(P);$   
 $T(P \vee Q) = T(P) \cup T(Q);$   $F(P \vee Q) = F(P) \cap F(Q).$   
 $R_{\bar{x}}^{\bar{v}} : R_{\bar{x}}^{\bar{v}}(P)(d) = P(r_{\bar{x}}^{\bar{v}}(d)) \quad d \in V.$   
 $\hat{E}, \&, \leftrightarrow$  [2]  $\hat{O}$   $\hat{O}$ :  
 $P \hat{E} Q = \hat{O} P \hat{O} Q; P \& Q = \hat{O}(\hat{O} P \hat{O} \hat{O} Q); P \hat{A} Q = (P \hat{E} Q) \& (Q \hat{E} P).$   
 $(\quad \quad \quad [2, 3]).$

$R) R(P) = P - (\quad \quad \quad [2, 3, 6]).$   
 $RI) R_{z, \bar{x}}^{z, \bar{v}}(P) = R_{\bar{x}}^{\bar{v}}(P) - ;$   
 $RU) \quad z \in V \quad P. \quad R_{y, \bar{x}}^{z, \bar{v}}(P) = R_{\bar{x}}^{\bar{v}}(P);$   
 $R\neg) R_{\bar{x}}^{\bar{v}}(\neg P) = \neg R_{\bar{x}}^{\bar{v}}(P) - R\neg - ;$   
 $R\vee) R_{\bar{x}}^{\bar{v}}(P \vee Q) = R_{\bar{x}}^{\bar{v}}(P) \vee R_{\bar{x}}^{\bar{v}}(Q) - R\vee -$   
 $R_{\bar{x}}^{\bar{v}} \circ_{\bar{y}}^{\bar{w}}(P)(d) = R_{\bar{x}}^{\bar{v}}(R_{\bar{y}}^{\bar{w}}(P))(d) = P(r_{\bar{y}}^{\bar{w}} \circ_{\bar{x}}^{\bar{v}}(d)) \quad d \in V A. \quad R_{\bar{y}}^{\bar{w}} \quad R_{\bar{x}}^{\bar{v}} - ;$   
 $RR) R_{\bar{x}}^{\bar{v}}(R_{\bar{y}}^{\bar{w}}(P)) = R_{\bar{x}}^{\bar{v}} \circ_{\bar{y}}^{\bar{w}}(P).$   
 $RR_A^V = (PrR^A, CR), \quad CR = \{\hat{O}, \hat{O}, R_{\bar{x}}^{\bar{v}}\},$   
 $\hat{O}, \hat{O}, R_{\bar{x}}^{\bar{v}} \quad R-$   
 $RR_A^V : RP_A^V = (PrP^A, CR) - P-$   
 $RT_A^V = (PrT^A, CR) - T- \quad , \quad RTS_A^V = (PrTS^A, CR) - TS-$   
 $\hat{O}, \hat{O}, R_{\bar{x}}^{\bar{v}} \quad [3]$

$0-$   $-$   $-$   
 $(\quad \quad \quad) = (\quad \quad \quad) \hat{O}_{xy}.$   
 $: \hat{O}, \hat{O}, R_{\bar{x}}^{\bar{v}}, = . \quad : \hat{O}, \hat{O}, R_{\bar{x}}^{\bar{v}}, \hat{O} .$   
 $= \hat{O}$   
 $T(=_{xy}) = \{d \in V A \mid d(x) \downarrow, d(y) \downarrow \quad d(x) = d(y)\},$   
 $F(=_{xy}) = \{d \in V A \mid d(x) \downarrow, d(y) \downarrow \quad d(x) \neq d(y)\};$   
 $T(\hat{O}_{xy}) = \{d \in V A \mid d(x) \downarrow, d(y) \downarrow \quad d(x) = d(y)\} \cup \{d \in V A \mid d(x) \uparrow \quad d(y) \uparrow\},$   
 $F(\hat{O}_{xy}) = \{d \in V A \mid d(x) \downarrow, d(y) \downarrow \quad d(x) \neq d(y)\} \cup \{d \in V A \mid d(x) \downarrow, d(y) \uparrow \quad d(x) \uparrow, d(y) \downarrow\}.$

$$\begin{array}{l}
\text{RfP)} \quad \begin{array}{l} \text{=}_{xy} \\ \hat{O}_{xy} \\ \text{=}_{xy} \hat{O}_{xy} \end{array} \quad ; \quad \hat{O}_{xx} \\
\text{SmP)} \quad \begin{array}{l} \text{=}_{xx} \\ d \in {}^V A \end{array} \quad ; \quad \text{=}_{xy}(d) = \text{=}_{yx}(d) \quad \hat{O}_{xy}(d) = \hat{O}_{yx}(d). \\
\text{TrP)} \quad \begin{array}{l} d \in {}^V A \\ \text{=}_{xy}(d) = T \quad \text{=}_{yz}(d) = T \Rightarrow \text{=}_{xz}(d) = T; \quad \hat{O}_{xy}(d) = T \quad \hat{O}_{yz}(d) = T \Rightarrow \hat{O}_{xz}(d) = T. \\ \text{=}_{xy} \& \text{=}_{yz} \rightarrow \text{=}_{xz} \\ \hat{O}_{xy} \& \hat{O}_{yz} \rightarrow \hat{O}_{xz} \end{array} \quad ; \\
\text{REP)} \quad \begin{array}{l} P \in Pr \quad d \in {}^V A \\ \text{=}_{xy}(d) = T \Rightarrow R_{z,x}^{\bar{u},v}(P)(d) = R_{z,y}^{\bar{u},v}(P)(d); \quad \hat{O}_{xy}(d) = T \Rightarrow R_{z,x}^{\bar{u},v}(P)(d) = R_{z,y}^{\bar{u},v}(P)(d). \\ RER_A^V = (PrR^A, CR_E), \quad CR_E = \{\hat{O}, \hat{O}, R_{\bar{x}}^{\bar{v}}, \text{=}_{xy}\}, \\ RESR_A^V = (PrR^A, CR_{ES}), \quad CR_{ES} = \{\hat{O}, \hat{O}, R_{\bar{x}}^{\bar{v}}, \hat{O}_{xy}\}, \\ REP_A^V = (PrP^A, CR_E) \quad RER_A^V \\ REST_A^V = (PrT^A, CR_{ES}) \quad RESTS_A^V = (PrTS^A, CR_{ES}) \quad RESR_A^V. \\ \neg, \vee, R_{\bar{x}}^{\bar{v}}; \quad Ps \\ (a); \quad V \\ Fr \\ 0) \quad \in Ps; \\ 1) \quad \Phi, \Psi \in Fr; \quad \neg\Phi \in Fr, \vee\Phi\Psi \in Fr, R_{\bar{x}}^{\bar{v}}\Phi \in Fr. \\ (C) \\ = ( \equiv ) \\ Fr \\ E) \quad =, \in V, \\ ES) \quad \equiv, \in V, \\ \rightarrow, \&, \leftrightarrow ( [2, 3]). \\ CS = ({}^V, Pr, C), \quad C - \\ Ps \quad ( ) \quad Pr, \\ I: Fr \rightarrow Pr^A \quad I: Ps \rightarrow Pr^A \\ I) \quad I(\neg\Phi) = \hat{O}(I(\Phi)), \quad I(\vee\Phi\Psi) = \hat{O}(I(\Phi), I(\Psi)), \quad I(R_{\bar{x}}^{\bar{v}}\Phi) = R_{\bar{x}}^{\bar{v}}(I(\Phi)). \end{array}
\end{array}$$

:

IE)  $I(=) = =$  .  
 IES)  $I(\equiv) = \hat{0}$  .

$J = (CS, Ps, I)$  ( , )  
 Ps. C (A, Ps, I) (A, I).  
 $I(\Phi) - \Phi$   $J - \Phi_J$   
 $x \in V$   $\Phi, x$   $\Phi_J$   
**J.**  
 $U \subseteq V$  ( ) . [2, 3]

$v: Ps \rightarrow 2^V, U = \bigcap_{p \in Ps} v(p).$

[2, 3]  $v: Fr \rightarrow 2^V.$

$v(=) = V \setminus \{x, y\}$   $v(\equiv) = V \setminus \{x, y\}.$   
 $\in v(\Phi),$  ( . [2, 3]) ,  $\Phi.$

TS-  $T-$  ,  $P-$  ,  $R-$  -  
 $P-$  ,  $T-$  , TS-  
**R, P, T, TS.**

$r -$  ( ) .  
 $\Phi$  ( ) **J,**  
 $J | = \Phi,$   $\Phi_J -$  .  $\Phi$   $J \in r.$   
 ( )  $r,$   $\alpha | = \Phi,$   $J | = \Phi$   $J \equiv \Phi,$   
 $\Phi$   $J,$   $J \equiv \Phi,$   
 $\Phi_J -$  .  $\Phi$   $r,$   
 $\alpha | \equiv \Phi,$   $J | \equiv \Phi$   $J \in r.$   
 $\Phi$   $J,$   $J | =_{id} \Phi,$   
 $\Phi_J -$  .  $\Phi$   $r,$   
 $\alpha | =_{id} \Phi,$   $J | =_{id} \Phi$   $J \in r.$   
 $r$  ,  $\alpha | =, \alpha | \equiv, \alpha | =_{id}$   $| =, | \equiv, | =_{id}.$   
 $\Phi$  **J,**  $\Phi_J -$  -  
 $\Phi$   $r,$   $\Phi$  **J \in r.**

**1.  $J | =_{id} \Phi \Rightarrow J | = \Phi, J | =_{id} \Phi \Rightarrow J \equiv \Phi; | =_{id} \Phi \Rightarrow | = \Phi, | =_{id} \Phi \Rightarrow | \equiv \Phi.$**

- :
- 1)  $\{\Phi |^R | = \Phi\} = \{\Phi |^R | \equiv \Phi\} = \{\Phi |^R | =_{id} \Phi\} = \emptyset;$
  - 2)  $\{\Phi |^P | \equiv \Phi\} = \{\Phi |^P | =_{id} \Phi\} = \{\Phi |^T | = \Phi\} = \{\Phi |^T | =_{id} \Phi\} = \emptyset;$
  - 3)  $\{\Phi |^P | = \Phi\} = \{\Phi |^T | \equiv \Phi\} = \{\Phi |^{TS} | =_{id} \Phi\} = \{\Phi |^{TS} | = \Phi\} = \{\Phi |^{TS} | \equiv \Phi\}.$

$T-$   $TS-$  .  
 $R-$   $P-$  .  
 $=_{xy}$   $\hat{0}_{xy}$   $x = y$   $x \equiv y.$



[2],

$$\text{R)} R(\Phi) \overset{\alpha}{\sim}_{TF} \Phi.$$

$$\text{RI)} R_{z,\bar{x}}^{z,\bar{v}}(\Phi) \overset{\alpha}{\sim}_{TF} R_{\bar{x}}^{\bar{v}}(\Phi).$$

$$\text{RU)} \quad z \in V \quad ; \quad R_{y,\bar{x}}^{z,\bar{v}}(\Phi) \overset{\alpha}{\sim}_{TF} R_{\bar{x}}^{\bar{v}}(\Phi).$$

$$\text{RR)} R_{\bar{x}}^{\bar{v}}(R_{\bar{y}}^{\bar{w}}(\Phi)) \overset{\alpha}{\sim}_{TF} R_{\bar{x}}^{\bar{v}} \circ_{\bar{y}}^{\bar{w}}(\Phi).$$

$$\text{R}\neg) R_{\bar{x}}^{\bar{v}}(\Phi) \overset{\alpha}{\sim}_{TF} \neg R_{\bar{x}}^{\bar{v}}(\Phi).$$

$$\text{R}\vee) R_{\bar{x}}^{\bar{v}}(\Phi \vee \Psi) \overset{\alpha}{\sim}_{TF} R_{\bar{x}}^{\bar{v}}(\Phi) \vee R_{\bar{x}}^{\bar{v}}(\Psi).$$

$$\text{RD)} \quad \begin{aligned} & x, y \notin \{\bar{u}\} \quad : \quad R_{\bar{v}}^{\bar{u}}(=_{xy}) \overset{\alpha}{\sim}_{TF} =_{xy} \quad R_{\bar{v}}^{\bar{u}}(\equiv_{xy}) \overset{\alpha}{\sim}_{TF} \equiv_{xy}; \\ & y \notin \{\bar{u}\} \quad : \quad R_{\bar{v},z}^{\bar{u},x}(=_{xy}) \overset{\alpha}{\sim}_{TF} =_{zy} \quad R_{\bar{v},z}^{\bar{u},x}(\equiv_{xy}) \overset{\alpha}{\sim}_{TF} \equiv_{zy}; \\ & R_{\bar{v},z,u}^{\bar{u},x,y}(=_{xy}) \overset{\alpha}{\sim}_{TF} =_{zu} \quad R_{\bar{v},z,u}^{\bar{u},x,y}(\equiv_{xy}) \overset{\alpha}{\sim}_{TF} \equiv_{zu}. \end{aligned}$$

( . . . . . 2 i 3),

$$\text{Rf)} \overset{P}{|=} x = x, \overset{R}{|=} x = x; \overset{\alpha}{|=}_{id} x \equiv x.$$

$$\text{Sm)} \overset{P}{|=} x = y \leftrightarrow y = x, \overset{R}{|=} x = y \leftrightarrow y = x; \overset{\alpha}{|=}_{id} x \equiv y \leftrightarrow y \equiv x.$$

$$\text{Tr)} \overset{P}{|=} = y \rightarrow y = z \rightarrow = z, \overset{R}{|=} = y \rightarrow y = z \rightarrow = z; \overset{\alpha}{|=}_{id} \equiv y \rightarrow y \equiv z \rightarrow \equiv z.$$

$$\text{ER)} \overset{\alpha}{|=} x = y \rightarrow (R_{\bar{z},x}^{\bar{u},v}(\Phi) \leftrightarrow R_{\bar{z},y}^{\bar{u},v}(\Phi)), \alpha - P \quad R;$$

$$\overset{\alpha}{|=} x \equiv y \rightarrow (R_{\bar{z},x}^{\bar{u},v}(\Phi) \leftrightarrow R_{\bar{z},y}^{\bar{u},v}(\Phi)), \alpha - P \quad R;$$

$$\overset{\alpha}{|=}_{id} x \equiv y \rightarrow (R_{\bar{z},x}^{\bar{u},v}(\Phi) \leftrightarrow R_{\bar{z},y}^{\bar{u},v}(\Phi)), \alpha - T \quad TS.$$

$$[2] \quad \begin{aligned} & R_{\sim TF}, \sim_{TF}, \sim_{IR} \quad \sim_T \quad \sim_F \end{aligned}$$

$$\text{4.} \quad \Phi_1, \dots, \Phi_n \quad \Psi_1, \dots, \Psi_n \quad \Phi_1 \overset{\alpha}{\sim}_* \Psi_1, \dots, \Phi_n \overset{\alpha}{\sim}_* \Psi_n, \quad \Phi \overset{\alpha}{\sim}_* \Phi'$$

[2],

$$\{\bar{v}\} \cap U = \emptyset$$

$$R_{\bar{x}}^{\bar{v}} p$$

5.

$$\Phi \overset{\alpha}{\sim}_{TF} \Psi.$$

RR, R¬, R∨ ( . . . . . [2]).

RD

RI, RU, RR, R¬, R∨ ( RD),







	<b>Rf</b>	$\models_{IR} :$
$\models_{IR},$	$\text{Rf)} \quad \Gamma \models_{IR} x = x, \Delta.$ $x \equiv y$ $\neg R_{\forall}^{\equiv}(x \equiv y)$	$R \models_{TF}, \models_{TF}, \models_T, \models_F,$
	$\neg$	$:$
	$\text{E}_{LR}) \quad \Gamma \models \neg x \equiv y, \Delta \Leftrightarrow x \equiv y, \Gamma \models \Delta \quad \neg x \equiv y, \Gamma \models \Delta \Leftrightarrow \Gamma \models x \equiv y, \Delta;$ $\text{RE}_{LR}) \quad \Gamma \models \neg R_{\forall}^{\equiv}(x \equiv y), \Delta \Leftrightarrow R_{\forall}^{\equiv}(x \equiv y), \Gamma \models \Delta$ $\neg R_{\forall}^{\equiv}(x \equiv y), \Gamma \models \Delta \Leftrightarrow \Gamma \models R_{\forall}^{\equiv}(x \equiv y), \Delta.$	
	<b>Rf, Sm, Tr, RD, ER</b>	
	<b>RfS, SmS, TrS, RDS<sub>L</sub>, RDS<sub>R</sub>, ERS<sub>L</sub>, ERS<sub>R</sub>,</b>	<b>Rf, Sm<sub>L</sub>,</b>
	<b>Tr<sub>L</sub>, RD<sub>L</sub>, RD<sub>R</sub>, ER<sub>L</sub>, ER<sub>R</sub>,</b>	<b><math>\neg</math>ERS<sub>L</sub> <math>\neg</math>ERS<sub>R</sub>.</b>
	$=$	$\equiv,$
		$\cdot$
		$\cdot$
	$:$	$\vdash \neg \cdot$
	$\vdash \Gamma \vdash \Delta$	$\Leftrightarrow \Gamma \models \Delta.$
	$($	$\Sigma$
	$)$	$\vdash \Gamma \vdash \Delta$
	$\Sigma.$	$\Gamma \models \Delta.$
		$\cdot$
	$\vdash \Gamma \vdash \Delta:$	
	$)$	$R \models_{TF}, \models_{TF}, \models_T, \models_F:$
	$\Phi$	$\vdash \Gamma \vdash \Delta$
	$\Phi \in \Gamma$	$\Phi \in \Delta.$
	$\neg \Phi \in \Gamma$	$\neg \Phi \in \Delta;$
	$\neg \Phi \in \Delta$	$\neg \Phi \in \Delta;$
	$\Phi \quad \Psi$	$:\Phi \in \Gamma, \neg \Phi \in \Gamma, \Psi \in \Delta, \neg \Psi \in \Delta.$
		$:$
	<b>RG</b>	$R \models_{TF}.$
	<b>RLR</b>	$\models_{TF}.$
	<b>RL</b>	$\models_T.$
	<b>RR</b>	$\models_F.$
	<b>RC</b>	$\models_{IR}.$
		<b>C;</b>
		$:\text{C} \vee \text{CLR};$
		$:\text{C} \vee \text{CL};$
		$:\text{C} \vee \text{CR};$
		$:\text{C}.$
		$\cdot$
	<b>R<sub>L</sub>, R<sub>R</sub>, <math>\neg</math>R<sub>L</sub>, <math>\neg</math>R<sub>R</sub>, RI<sub>L</sub>, RI<sub>R</sub>, <math>\neg</math>RI<sub>L</sub>, <math>\neg</math>RI<sub>R</sub>, RU<sub>L</sub>, RU<sub>R</sub>, <math>\neg</math>RU<sub>L</sub>, <math>\neg</math>RU<sub>R</sub></b>	
	<b>RR<sub>L</sub>, RR<sub>R</sub>, <math>\neg</math>RR<sub>L</sub>, <math>\neg</math>RR<sub>R</sub>, R<math>\neg</math><sub>L</sub>, R<math>\neg</math><sub>R</sub>, <math>\neg</math>R<math>\neg</math><sub>L</sub>, <math>\neg</math>R<math>\neg</math><sub>R</sub>, R<math>\vee</math><sub>L</sub>, R<math>\vee</math><sub>R</sub>, <math>\neg</math>R<math>\vee</math><sub>L</sub>, <math>\neg</math>R<math>\vee</math><sub>R</sub></b>	$\vdash \text{R}, \neg \text{R}, \vdash \neg \text{R}, \neg \neg \text{R}, \vdash \text{RI}, \neg \text{RI},$
		$\vdash \text{RR}, \neg \text{RR},$
	$\vdash \neg \text{RI}, \neg \neg \text{RI}, \vdash \text{RU}, \neg \text{RU}, \vdash \neg \text{RU}, \neg \neg \text{RU}$	$\vdash \text{RR}, \neg \text{RR},$
	$\vdash \neg \text{RR}, \neg \neg \text{RR}, \vdash \text{R}\neg, \neg \text{R}\neg, \vdash \neg \text{R}\neg, \neg \neg \text{R}\neg, \vdash \text{R}\vee, \neg \text{R}\vee, \vdash \neg \text{R}\vee, \neg \neg \text{R}\vee.$	
	<b>R, RI, RU, RR, R<math>\neg</math>, R<math>\vee</math></b>	<b>4</b>
	$\frac{\vdash \Psi, \Sigma}{\vdash \Phi, \Sigma}, \frac{\neg \Psi, \Sigma}{\neg \Phi, \Sigma}, \frac{\vdash \neg \Psi, \Sigma}{\vdash \neg \Phi, \Sigma}, \frac{\neg \neg \Psi, \Sigma}{\neg \neg \Phi, \Sigma},$	$\Phi$
		$\Psi -$

$$\begin{array}{c}
\text{RU} \frac{\vdash R_{\bar{u}}^{\bar{v}}(\Phi), \Sigma}{\vdash R_{z, \bar{u}}^{y, \bar{v}}(\Phi), \Sigma}, \quad \in v(\Phi); \\
\frac{\neg\neg_L, \neg\neg_R, \vee_L, \neg\vee_L, \neg\vee_R, \neg\vee_R}{\vdash\neg\neg, \neg\vdash\neg, \vdash\vee, \neg\vee, \vdash\neg\vee, \neg\vdash\vee}; \\
\text{RR}, \vdash R\neg, \neg R\neg, \vdash R\vee, \neg R\vee, \vdash\vee, \neg\vee, \\
\text{RU} \quad \neg\neg\text{RR}; \\
\neg\neg\text{RR} \frac{\vdash\neg R_{\bar{x}}^{\bar{v}} \circ \bar{w}}{\vdash\neg R_{\bar{x}}^{\bar{v}}(R_{\bar{y}}^{\bar{w}}(\Phi)), \Sigma}. \\
[5]. \\
RG, RLR, RL, RR. \\
R - \text{R}, \neg\text{R}, \vdash\text{R}, \neg\vdash\text{R}, \vdash\text{RU}, \neg\text{RU}, \vdash\text{RR}, \\
[2, 5] \quad \vdash\neg \quad \neg\vdash. \\
\text{CRfS} ( \quad ) \\
\text{CRfS} \quad \vdash\Gamma\neg\Delta, \quad x \equiv x \in \Delta \quad x \in V. \\
\text{CRf} \quad \vdash\Gamma\neg\Delta, \quad x = x \in \Delta \quad x \in V. \\
R_E G \quad \vdash_{TF}. \quad : C \vee \text{CRfS}; \\
R_E LR \quad \vdash_{TF}. \quad : C \vee \text{CLR} \vee \text{CRfS}; \\
R_E L \quad \vdash_T. \quad : C \vee \text{CL} \vee \text{CRfS}; \\
R_E R \quad \vdash_F. \quad : C \vee \text{CR} \vee \text{CRfS}; \\
R_E C \quad \vdash_{IR}. \quad : C \vee \text{CRfS}. \\
RC_E, \quad \vdash_{IR}. \\
RC_E : C \vee \text{CRf}. \\
R_E G, R_E LR, R_E L, R_E R \\
RG, RLR, RL, RR, \\
\vdash\neg\text{RDS}, \neg\vdash\neg\text{RDS}, \vdash \text{RS}, \neg \text{RS}, \vdash\neg \text{RS}, \neg\vdash\neg \text{RS} \\
\vdash\neg S \frac{\vdash\neg x \equiv y, \Sigma}{\vdash\neg x \equiv y, \Sigma}; \quad \neg\vdash\neg S \frac{\vdash\neg x \equiv y, \Sigma}{\vdash\neg x \equiv y, \Sigma}; \\
\text{SmS} \frac{\vdash x \equiv y, \vdash y \equiv x, \Sigma}{\vdash x \equiv y, \Sigma}; \quad \text{TrS} \frac{\vdash x \equiv y, \vdash y \equiv z, \vdash x \equiv z, \Sigma}{\vdash x \equiv y, \vdash y \equiv z, \Sigma}. \\
\vdash\text{RDS}, \neg\vdash\text{RDS}, \vdash\neg\text{RDS}, \neg\vdash\neg\text{RDS} \quad \text{RD} \\
\frac{\vdash x \equiv y, \vdash \varphi, \vdash \psi, \Sigma}{\vdash x \equiv y, \vdash \varphi, \Sigma}, \frac{\vdash x \equiv y, \neg\vdash \varphi, \neg\vdash \psi, \Sigma}{\vdash x \equiv y, \neg\vdash \varphi, \Sigma}, \frac{\vdash x \equiv y, \vdash\neg\varphi, \vdash\neg\psi, \Sigma}{\vdash x \equiv y, \vdash\neg\varphi, \Sigma}, \frac{\vdash x \equiv y, \neg\vdash\neg\varphi, \neg\vdash\neg\psi, \Sigma}{\vdash x \equiv y, \neg\vdash\neg\varphi, \Sigma}. \\
R_E : \text{R}, \neg\text{R}, \vdash\text{R}, \neg\vdash\text{R}, \vdash\text{RU}, \neg\text{RU}, \vdash\text{RR}, \neg\text{RR}, \vdash\text{R}\neg, \\
\neg\text{R}\neg, \vdash\text{R}\vee, \neg\text{R}\vee, \vdash\neg, \neg\vdash\neg, \vdash\vee, \neg\vee, \text{SmS}, \text{TrS}, \vdash\text{RDS}, \neg\text{RDS}, \vdash \text{RS}, \neg \text{RS}. \\
R_E : \text{R}, \neg\text{R}, \vdash\text{R}, \neg\vdash\text{R}, \vdash\text{RU}, \neg\text{RU}, \vdash\text{RR}, \neg\text{RR}, \vdash\text{R}\neg, \\
\neg\text{R}\neg, \vdash\text{R}\vee, \neg\text{R}\vee, \vdash\neg, \neg\vdash\neg, \vdash\vee, \neg\vee, \text{Sm}, \text{Tr}, \vdash\text{RD}, \neg\text{RD}, \vdash \text{R}, \neg \text{R}. \\
\text{SmS}, \text{TrS}, \vdash\text{RDS}, \neg\text{RDS}, \vdash \text{RS}, \neg \text{RS}, \quad \equiv \quad =. \\
8. \Gamma \models \Delta \Leftrightarrow \vdash\Gamma\neg\Delta.
\end{array}$$

---

*S.S. Shkilniak, D.B. Volkovytskyi*

#### RENOMINATIVE LOGICS OF QUASIARY PREDICATES

We consider renominative logics of quasiary predicates. They occupy an intermediate position between propositional logic and first-order logics. We specify renominative logics of basic level, logics with predicates of weak equality, and logics with predicates of strong equality. Semantic properties of the introduced logics are investigated and logical consequence relations are described. On this basis, a number of sequent calculi for renominative logics are constructed.

1. *Handbook of Logic in Computer Science* / Edited by S. Abramsky, Dov M. Gabbay and T. S. E. Maibaum. – Oxford University Press, 1993 – 2000. – Vol. 1–5.
2. „*Journal of Applied Logic*”, 2008. – 528.
3. „*Journal of Applied Logic*”, 2013. – 278.
4. „*Journal of Applied Logic*”, 2012. – 138. – C. 23 – 29.
5. „*Journal of Applied Logic*”, 2013. – 3. – C. 22 – 37.
6. „*Journal of Applied Logic*”, 2014. – 3. – C. 198 – 205.

09.03.2016

#### **Про авторів:**